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GENERAL IN'
Directions: In questions no. 1 and 2,
letter/word from the given alternatives 3
1. A—E:R=V::B=F:F=]

(A) BSCG B)
@ Csca D) ¢
2. . Horse:Neigh:: Bells:? - wmal =
(A} Chime (B)  Rus
© Roar D) Beat
3. Which oneset of letters when sequent Il :pkmd,g_ﬁj
the gaps in the given letter series shall completeit?
a_bba_bba_bb
(A) aab (B abb (© bbb (D) bba

| 1. Certain numbers have symbols as given below,

Directions: In questions no.4 to 12, aseriesis given, with

one term missing. Choose the correct alternative from the

given ones that will complete the series. ]

4 WLVYZSYZBYZ, e -
A) TYz B) RYZ

XYZ '

©  Myz o)
5. . 543,29 63995000 |

W 253 @ 196 © 245 @ s |8

6. AZ,CCEV.GT._ 2 ,KP..? |

(A)  IRand NM (B) Rf‘ﬁnd MN
© ~Rland NM (0)  Rand MN
7. TQNKHEBYVSP?77
(A) NKG (B)  NKI
©  MJG @) MJH
B. 61,5263 94 46, 2
(A) 19 ® 18
Q) iz (D) None
9.  EFA,GHCIE, ?
&) JKG ® KLG
{© HIF (D) KDA
10, P3G RSE TALMaoL, 7
(A) X17M B X170
© Y7o I O X160
11, NP MK RT IG__? :
(&) LW ® I © E ® v

12 1310, 2 100, 1003, 1000, 10003,

(A) 1030 (B) 1130 (©) L1038 (@) 130

NCE & REASONING

1"2°3 4 5 ¢ 7 % oibp
QN ¢ E I ap ¥ =
Whatis the number indicated by these symbols 7
e LR '
(A 56907 (B)
@ 45906 D)

45096
47095

| Directions: Inquestion nos, 14 to 17, find the odd word/

;ﬁ‘mrﬁer from the given alternatives.
% (A)  Yellow Orange B)
l - (© RedOrange (D)
15. 27,125,216, 343 0
@) 125 @B 216 (© M3 @)
(A)  Pound (Sterling) ;
(©. Yen S
(A)  firm

(©) agreeable
What is the least number to
to make it a perfect square ?
] @& 85 ® 990 ©Q

X y

Shiela and Belah start from their o
opposite direction each travelling
then turns leftand walks 10 kms,

and walks 10 km. How far are
other?

(A" 10km (B)
© 8km (D)
20.  Roshan is taller than Ha

Susheel. Niza is taller than!
Hardik: Susheel is shorter

Yellow Green

27

k.

tallest ?
(A)  Susheel
© Hamy

Directions: In questions no. 21

alternatives select the word which

the letters of the given word.

21. DISAPPOINTMENT
(A) OINTMENT
© POSITION

SPACE FOR ROUGH WORK
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Fordyr : wod w1 afv2 ), fem m

/TR T A |
L. A-E:R—V;:B-F:E-[
(A) BSCG
CSCG
= ' ¥ EA)jssgﬁ (B 45096
2. ‘n‘haf‘ﬁf%'iﬁlﬂ‘a"z‘ I (© 45906 (D) 47095
(. B ® frdor : ww TEm 149 17 7% 3, fa T el 6 @ faww
i L w1/ HE
3. SRR W1 FI-H TR @l e W 14, (A) AR (B wE-Ten
T SR ST H I HON ? ! (© @m@-A o) TaEn
a_bba_bba_bb = 15, 27,125,216, 343
(4) aab (B abb (O b bba (A) 125 B 216 (O 343 D) 27
Friter - s s 4R 128, T SR T 16 (a) () T
TE ¥ i e e F @ a v T {q) T g)) ¥
FITFL 1 e
&  YZVYZSYZPYZ_? . 7. & ® ®) TR
%) %ZZ % RYZ © O TFE
S 30N 15 T T 18. 2486 %1 o1 = s o v g @ e wed B
| W @ 1% © m‘@# 145 o i Ser w2 2 o
6. AZOGEV,GL,_2 ,KP_2 . | W s ® 0 © ®)
{A) IR FTNM ®). iu:" "1',”- 19. ¥t i AE HT TR H T LE T € o7 A
© R O R3WMN ferettr e & 10.- 10 ool <l €1 3 A e
7. TQNK;HLE, k AT e 10 fmlt <rerelt @1 e =i e 10 foRe
(A) NKG ‘ﬁ et ¥ 9 A v g | e gt w2
G M @) 10 e ® sfed
8.  61,52,63,94,46,_2 . © s ® 20w
8 i _
e O mdawia |2 A s, e gm b o,
o Wy o Bt %ﬂ%ﬁf%‘gmﬁ*ﬁm%r@ﬂaﬂmﬁ
’ (A) ' JKC-;'IIE‘_"_. ® KIG B B | FAET A WA w7
© HF D) KDA ®) = ® @w
10. i’:).C,RSF,TBLVIZL ? © o) A
e, K17 g9 X9 fordor : o e 218 23 ¥, Freferfan fomed 4 9 7w v
- by fir aE 4 S feg 0 i sl ) A A
1. NPMKRTIG_? . i diic
@ W @ ™ ©Q E O VX |5 " beappoNTMENT
12, 13,10,__2 ,100,1003, 1000, 10003,  (A) OINTMENT (B TENEMENT
(A) 1030 B 1130 (O 103 (D) 130 (©) POSITION (D) POINTER
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2. DECOMPOSITION

3 T
! (A)  ECONOMIST {B) 5 3
(@ DOCTOR ) gETs
23,  INTELLIGENCE ?:) gz :B ;
(A) GENTLE (B) |
(©  CANCEL D) 132 511,245,106, 2
| : | 2
24.  In the following question, the (A 122 @B

skipped in between adjacent letters in

4 033. 19 18 34 32
successive even numbers, Which of the: i

series observes this rule ? = . 2 4
(A) ADGIM (B) BEJQZ - (A) & (B
©@ BDGKQ @) FINUZ 34, 4 3
25, If x stands for addition, < for substraction, + stands 362 100
for division, > for multiplication, — stands for (A) 49 (B
equation, =+ for greater than, and = stands for less : WS
than, state which of the following is true 7. B ,’;‘;vie’jefa:ngi
) 5>8+4=10<4x8 | 3more hours to fill
(B) 3x4>2-9+3<3 take to empty the
(O 5x3<3+8+4x1 1 closed/shut ? .
D) 3x2<4=16>244 "“ (A) 75hours
26.  Inaquestion paper, there are 12 quesnommaﬂéail ‘ % :murs :ﬁ I_ evaie i~
of which only six are to be answered, Six questions ©  2hours mes
have an alternative each. Each question has four (D) 15 hours 20 minutes
How many questions including parts are there in " : ar:;ikg dbgfh_ MZ;EW.‘B; a;:ay
the question paper ? F wa;vked 4 ::ﬁ rlt:f)‘r:hnof’%‘»md B wm
@ 48 ® 72 O % ® A. What is the distance between
27. 1 MOBILE is written as ZAMSUM, how TUMOR A)  95m ®)
| can be written in that code ? @ 16m D)
(A) HGYAD (B) GGXYA
(©  IHZBE D) BRAIN
28 If55+66=33 and 22 +99=33, whatis 44+88 7 | avenis they seem to be at variance fro
W 36 @ 38 (@ 400 ()L 33 | facts. You havetodecideseics f

; ifany, follow from the given stateme 3
Directions: In questions no. 29 to 34, select the missing i

number from the given responses, 9. Stattements ) :(:lnne.r;are
29.  3917,3526, 2 2857 fjSome citiess
. @y 3174 (B) 3389
C© 2682 (D) 3082
30, 16 49 64 (A)
| 25 36 H (B)  Only conclusion (I
9 B 2 (©Q  Only conclusion (II)
L @ 2 @ v © 14 O 21 (D)  Noneof these

SPACE FOR ROUGH WORK

AA 2013/Paged

333 PK 4




26. THIAEHFA mm&,

| ADGIM

1—% BDGKQ

255 #ﬁxm%m%<
2 >TmF faud, — =
mm=wwm
i £
(A) 5>B+4=10<4x8
(B) 3x4>2-9+3<3 p
(@ 5x3<3=+ 8+4X‘1 r
(D) 3x2<4+16>2+4

27. Afg

T #1 § TUMOR®!
(&) HGYAD

| (© IHZBE

28, "Hﬁ55+66=333ﬁ'{22+99-33ﬁ T8 ?
(A;ss(ﬂyssmmamaa

o : T HE 299 34 ¥, fow M faraedi F § o aw

;3917.3526, 2, 2857
(4 3174 (B) 3389
© 2682 D) 3082
). 16 49 64
25 36 81
G 13 7
M 2 BT O u“ P 2

31. 3 4 6
5 ¥ 3
fie2. 7
35 69 7
| ) 9% @B 8 © 4£2 @D
32. 5,11,24,51,106, 7 .
@ 122 ® 217 © 221 O 1
33. 191834324441
4 ?
9\3 6 ® 9 © 4 © 3
3 2

2 100 7 ? 5 _
49 B 6 (© 81 @
35. Mﬂgﬁ%ﬁsﬁﬂ{umm% '

mﬁwmaﬁmﬁmm

(B) ;
(D) 11.40 .

| | mﬁwa)ml
,.@ e e (1) &

knﬁﬁﬂt#m =




\38. Statement: Sun is the source of light.

Conclusions: (I) Moon isnot thes
(D Light has only o
(A)  Only conclusion (I) follows

()  Only conclusion (II) follows e §

(©  Bothconclusions (I) and (IT) f i

(D)  Neither conclusion (I) nor (ﬂ)m

Directions: Inquestions no. 39 to 41, which answer figure |

will complete the question figure ?
39. Question figure:

&

Answer figures:
(A) (B)/ © )
40. Question figure:
OECIE
Al0]8la
el ?
Answer iigures i
o || BE || Es
(A) (B (© ©)
41.  Question figure:
Answer figures:
@ ®  © ©)

42, Which one of the follow
folding the given key des

Question figure:

eated by

44,  Choose from the following diagrams (4), (B), (O and
(D) the one that illustrates the relationships among
three given classes : !

North America, United States of America, New York

SPACE FOR ROUGH WORK
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35, WO 9 W H | 4

formwd ;. (1) g T R A E
(u)mmmwﬁmt
() e freed (1) B
@®) e Fr (1) B
© forsd (1) i (1) = B ,
D) = 1 fored (1) Fm i A @ e (1) &0
ﬁ&m:wmssﬁﬂﬁ.ﬁﬂﬁmmﬁm‘wﬁ%
Bl akukanin
39. W9 3T :

40.

41, W9 I ¢

) (B) © i
-t s g, i, o 3 e e i E I8

® C:@(B) 09 |
(C) o OO0 Ii

frefarfiarn st (A), (B), (€) s (D) & | TE A
o S feg T A7 A S A, I T |
aﬂmmw&mﬁtﬁaﬁm%? ‘

L =18
(4) (B) © (D)

)

@ 12 ® 13 © 14 O 11

e bty e s i i
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47.

Question figures: —

85

Answer figures:
3 B a 4]
5[6] 3]6] NE 1]6]
1 4 3 5
[3]2 [2]1 2] [a]2
(A) (B) © o)

A word is represented by only one set of numbers as
given in any one of the alternatives. The sets of
numbers given in the alternatives are represented
by two classes of alphabets as in the matrix given
below. The columns and rows of Matrix are
numbered from 0 to 6. A letter from the matrix can
be represented first by its row and riext by its column,
e.g., ‘A’ can be represented by 42, 62, etc,, and P’
can be represented by 15,43, etc. Similarly, you have
to identify the set for the word ‘CALM’.

Matrix
ol1l2]as]a]5]6
1 58| rE|[L[R][S
2| s|e N[z
sBlulFlT]k[L
s|v|ialrplclY|a
s Mmwlclo[ x|~
6|B|alE|J|L]O
(A) 53,42, 65,36 () 53,54,51,31
(© 44,54,65,24 D) 44,62, 65,51

A piece of paper is folded and cut as shown below
in the question figures. From the given answer
figures, indicate how it will appear when opened.
Question figures :

2 NP o
Answer figures:
o o 9 o @0
o ol|lo elleo o o o
h O o { &l o
(A) (B) © (D)
Which answer figure includes all the components
given in the question figure ?
Question figure:

—
<>O<><> D

Answer figures:

oNI={" %
X e
(A) (B) © (D)

If a mirror is placed on the line MN, théh which of
the answer figures is the right image of the given
figure?

Question figure:

M

; :

N

Answer figures :

= =
@ 2 7
&) (B) (©) D)

SPACE FOR ROUGH WORK
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46 A A A o e # ) 48, A Y aERE H R e
T1H 6 HEm < E | U v i T A W F A IE 5 I
e W famrE 4 = ?
a7 | 37 | A&7
28 | GF | (P
- q o
FF AT fera ooo ooo Bra o %
= - —= b O o J 9 . e
1 5 6 1 a a
& ® © )
i 6] i 6] ; 5] ; 6] 49. FA-#t I A ¥ W gl F fow w0 el w=w
[3]2 [2[1 [2]1 [3]2 wferet &7
(A) ®) © D) it
—
47. UF Y Hew UF FEA-9E BRI SN W 7, S o
fop el 3 @ foreht w6 fo T B et B 00]
o T Hen-wE AeRi % & A s E -
e o 41w T e E 1 SeTe e e I ST :
TR RIS 0R 6F T R TH TR W TF A A = L
et e v i # e wem g e '&’ Zéoo SO
WM ¥ e ¥ G AR 42, 62, AT T O Ry
T =1 Fehen & AT P 15, 43, S 570 T =1 7y ®) © D)
?%' ﬁmﬁmm ALK S | s T T MN T T 9, A s
Aprarg a@?ﬁﬁ%m—@mma@ﬁﬁﬁémﬁm
m é‘lﬁ-— i
TV AT :
| ol1[2]3]a[5]6 M
\ 1|H|R|E|L1]|P|S i
2(s|G[N[D[z]T i %‘
3| BlW| BLE K|L s
lalvlalr|c]Y[a N i
5 | M|{W|C|O[X|N I ST :
6|B|A|E|J|L|O w
F%y/ % 4 7
(A) 53,42,65,36 (B) 53,54,51,31 2
(©) 44,54,65,24 D) 44, 62,6551 (A) B © (D)
% W & ol e
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39. Whichone completes the series 7 . 46. Rabindranath : Gitanjali: : Maxim Gorky: _? .
N ok
7,.20; 59,176, 527, & - _.. (A)  Midnight's Children
(A) 1054 (B) 1580 () 586 (D) 703 B Mother
h ! (C) Pareenita
40. If in a language PSYCHOLOGY is coded gﬁ'l f ; !
© RUAEJONQIA, what will the code GPUQOQNQIA ‘ (D) Crimeand Punishment
stand for 7 '
- |
A) ENTROLOGY ENTOMOLOGY
) ® - I/'[ '47.  Equation given here follows a certain characteristics.
(© ENTOPOLOGY (D) EMBRYOLOGY On the same basis, find out the correct answer for
s the unsolved equation.
41.  From the given alternative words, select the ¥ ord 34546=467,1+2+6=237,5+7+2=17
wh:jh cannot be formed using the lettersof the given (&) 567 (B) 687 (O 460 (D) 683
word ©
RATIONALISATION
(A) STATIONS ®) SALINATION 48.  Fourmen Ram, Shyam, Jadu, Madhu are married to
- Rama, Shyama, Jaya, Mala, not necessarily in that
(C) STATION (D) IONISATION order. The couples live in Raipur, Shikhar, Jammu,
Mumnbai, again not in order.
42.  Find the odd word from the given alternatives. (1)  The first letter Of the names of men, their
o wives and their cities does not match.
(A)  Canecraft (B  Witcheraft
. A (2) ShyamaisnotJadu's wife.
(©) Metal craft D) Wood craft
(3) Jadudoes notlive in Mumbai.
Directions: In questions no. 43 to 46, select thereiafadf YT R
letter/ word from the given alternatives. (A) Shyama ® Jaya
43, ABZY;DCWX::EFVU:_2 © Mala D) Rama
(A) GHTS (B HGTS
© TSHG (D) HGST
49,  Thereare five hutsinarow. They arenamed DIKOM.
Oisto the right side of K and left side of D. Lis to the-
44, REDEFS::BLUE:_? . igg:;l‘.ied?e of D and left side of M. Which hutis in the
(A) DIKA (B) FUNC .
w M ® K © D O O
(© GVND D) FVMC
s b P e 5 | 50. Inarow of girls, Maya s thirteenth from left. Molly
45. Bh1;nsen Joshi: Classical Singer : : Raja Ravi Verma: who is twenty third from the right is third to the
== ‘ right of Maya. How many childrenare there in the
(A)  GreatSinger (B) GreatPainter row?
(O) GreatDramatist (D) Great Dancer (A 38 ® 36 O 35 (D) B34
SPACE FOR ROUGH WORK
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39. ﬁﬂrﬁa‘ﬁaav{'mﬂﬁtam—#}m‘{(r#ﬂ'?‘ .46. Tl Y« At o wfEew A 2
7,20,59,176,527, 2 _ (A) fremzs foeg
(A) 1054 (B) 1580 (O 586 (D) 703 ® R
© i
40. =fe faet 9 # PSYCHOLOGY %I RUAEJQNQIA .
¥ w7 Fifeq f 9 § 9 GPUQOQNQIA %18 (@) e gs e
ferme form & ?
(&) ENTROLOGY (B) ENTOMOLOGY |47. = feu e wefsae sl foe fram =1 wrem #3
© ENTOPOLOGY (D) EMBRYOLOGY 1 7 7 o T e 1 HE S I S W
T I 2
a, Pl e 68 e me e e e 3+5+6=467,1+2+6=237,5+7+2="?
' %wﬁm@nmﬂﬁﬂa@ﬁrm: | e 687 (O 460 (D) 683
RATIONALISATION I -
oy 48, TR M, ¥, 93, 7Y T, I,
(A)  STATIONS (B] SALINATION e A e
(© STATION D) IONISATION T, o, e, e § e ¥ fg R au ww A
Tl -
42, feu o fashed 7 & foamm we i () smefE, S Al o S e % A
(A) Canecraft (B)  Witch craft W e HE § e T8 W
(©  Metal craft D) Woodcraft @) vE, WY g T F
@) g, geE H 9w
: i [ ‘ R grafeg
Ziﬁwmﬁuﬁ%ﬂ,mwﬁm kil T F T
43. ABZY:DCWX::EFVU:__? . (A4) _m el
(&) GHTS (B) HGTS © e o)
© TSHG (D) HGST
49, U Ufam § 9= wofemi ¥ =% 79 DIKOM 1 K
EFG- - ! HIEE ATTMDH E SO [ DHRITE AT
44, RED:EFS::BLUE:_? . ) _ 3
() DIKA ® FUNC st M =1E 3l &) A i e | w2
(© GVND (D) FVMC @ M (B) K © D O ©
! - . 50, erefEmdl & e ¥, A S 4 G Je W | A
45, fimEF Sl e T T w2 SR s % e v b B e A SR AR
(A)  HE TR ®) EH R vfg ¥ o et orefFa/a= €7
(© HER TEEHER (D) TR TH (A) 38 ® 36 (© 35 DO 34
% T & ford wE

AA 2013/Pagell

333 PK 4




51,

5%

53.

54,

55.

56.

57.

58.

Which of the following metals isus
to withstand high temperatures ?

(A) Fe
© Ni © '\

Over use of resource is called “Tragedy of |

Commons”. It was propounded by
(A)  Garett Hardin (B) Seligman
() AdolphWagner (D) AP.Lerner

“National Youth Day” is marked on:
(A) January 15 (B) January9
(Q January 18 (D) January 12

The highest altitude (4411 meters above sea tevel)is |

of::

{A) Daocheng Yading Airport
(B) Heathrow Airport

(©) Kathmandu Airport .
(D) Bangda Airport I
Which of the following is protected under Wild life |
(Protection) Act, 19722 N I
(A) Porcupine (B)  Gerbil

(©) Bandicoot rat (D)  Squirrel

-
Brass gets discoloured in air due to constant
exposure in presence of :

(A)  Aluminium phosphide
(B) Hydrogensulphide i
(©) Hydrogenated wafers

(D)  Aluminiumsulphide =

ANOT gate can beimplemented by :
(A) asinglediode (B twodiodes
(©) asingleresistor (D)

Article 1 of the Indian Constitution declares
“India that is Bharat” isa:

(A)  Union of States

(B)  FederalState with Unitary features

(©)  Unitary State with federal features

(D) Federal State

® T 1 i

a single transistor
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62,

63.

Plantation of trees on a large scale to check soil
erosion are called :

(A)  Shelter belts

(B Contour ploughing
(©  Stripcropping

(D)  Afforestation

Persistence of vision is the Principle behind :
(A () Cinema
(©) Periscope (D) Camera

Thinner particles responsible for deteriorating the
air-quality resulting in the damage of vital body
organs are referred as PM;

@ 155 B 105 ©

Binocular

25 (D) 205

What is ‘Milindapanhe’ ?

(A) . A Buddhist place

(B)  Omeof thenames of Buddha
(© A BuddhistSpecimenof Art
(D)  ABuddhist text

Of the following, in which did Napoleonic France
suffer final defeat?

(A) Battle of Trafalgar

(B)  Battleof Wagram

(©) Battleof Pyramids

(D)  Battleof Austerlitz

An example of protein whichacts as a hormone is &
(&) Trypsin (B)  Oxytocin

(© Keratin (D) Casein

The fat of a common mussel secretes a sticky glue
that can be used to make heartimplants. Theunique
chemical compound present in the glue s :

(A) Amino phenyl alanine

(3  Hydroxy phenylalanine
() Phenylalanine

(D) Dihydroxy phenyl alanine
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52,

53

54,

55.

56.

575

58.

4 fop g =61 W fef ST § 2
(A) Fe (B T (© N (D Fb
m%mmﬁ"mm"mw
¥ zu wiawed e fae a7

Ay TEE @) wfamE
© TEREHEEAL @) oL T

e g feam ! o fer T IR 2
(A) 15T ®  9wmE
© 18wl @) 12

T s S (WE A @ 4411, ) TR TR
wR?
(a) =i Afer TR

@ W O

mmmﬁmmamﬁma
ST & ?
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e srufa IRE " LR

(a) T wE

® T fafeeasd wen JeE T
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61.

62.

63.

65.
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N FEd & 7
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@) FEA ® fom
@ e (D) FHU

mﬁﬂmaﬁﬁn@%mﬁtﬁmwﬁﬁ
HO Heweet AR afn ogEn & S A
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(A) 155 (B 105 (© 25 (D) 205
Tufe=ars #n§?

(a) gy TE

(B) IRUHILH TH
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@ deEEE

Friferfan & fom e Siferr wiw 91 i
BUEE?
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67.

69.

72.

3

Product) contributed by services
(A)  During2000-01 (GDP -6

(©  During 1950 -51 (GDP - 34.63%
(D) During 2011 - 12 (GDP - 57.00%)

India for medium range weather fore 7 i
(A) Cray XMP-14

(B) Medha-930

(O CDCCyber930-11

(D) Param

The study of populationiscalled:

(4) Cartography ~ (B) Anthropology
(©  Demography (D)  Biography

Well preferred tree fossil supposed to be from Jurasic

Age in India is reported from:
(A) Pithauragarh (8) Chhattisga ’
(O Ramgarh (D) Bahadurgarh

The primary producer in an ecosystemare :
(A) Women (B Men
(@ Plants (D) Bacteria

The Vice-Presidentis : I

(A) A memberof Lok Sabha

(B) A member of RajyaSabha

(C) A member of either House

(D) Notamember of the Parliament

In <HR>, the HR stands for :
(A) Heading Regulations
(B) Happy Romulans

(©) Horizontal Rule

(D) Horizontal Rulers

The Government of India Act, 1935 was based on
(A) Simon Commission

()  Lord Curzon Commission

(O  Dimitrov Thesis

(D)  Lord Clive's report

AA 2013/ Pagel4

74.

76.

79.

82

Some of the ingredients required for bread making
are:

(A) Maidaand Yeast

(B) Maidaand Baking Powder

(©) Maida and Baking Soda

(D) Maida and Ghee

Which one of the following hormone is called
“Emergency Hormone” ?

(A)  Adrenaline (B) Thyroxine

(©) Vasopressin (D) Insulin

Rajiv Gandhi International Airport is situated in;
(A) Jammuand Kashmir

(B) New Delhi

(© Mangalore

(D) Hyderabad

Who founded the Indian National Party in Berlin
during 1914 ?

(A) Subhash Chandra Bose

(B) W.C.Banerjee

(©  Surendranath Baneriee

(D) Champakaraman Pillai

Malaria is transmitted from one person to another
by:

(A)  Aedes Mosquito

(B)  Culex Mosquito

(©)  Anopheles Mosquito

(D)  Allof theabove

Who was the head of the 10th Finance
Commission ?

(A) Manmohan Singh

(B) Vasant Sathe

(C)  Shiv-Shankar

(D) K.C.Pant

In India, Special Economic Zones were established
to enhance :

(A) Freetrade
(B) Foreign Investment
(C) Employment

(D) Technology Development

Salal is the hydro power project in:

(A) Haryana

(B) Jammuand Kashmir

(©) Himachal Pradesh

(D) Punjab

During Quit India Movement, ‘Parallel Government’
was constituted at:

(A) Varanasi (B)
(O  Lucknow (D)

Allahabad
Ballia
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67.

69.

70.

ot

73.

. (a) R e

o 3 i ¥ SHOEH A W S SR
& U fomen = wEE HIfe

(a) =9 2000 - 01 F (S - 65.54%)
® =9 1980 - 81 F (SET - 50.00%)
© 741950 - 51 H (S - 34.63%)
@) =¥ 2011 - 127 (STEMT -57.00%)
org 4 3 HEw qatTee % e s g el e
FH-G1 YR HE wlE Ty

(A) % TEETT - 14

-4

(B) HE-930
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© e ot we e g )

(D) HiwE (FEE Few) T A

<HR> # HR fas fan 52

®) I
(© fed ¥ (D) = =g
T at e v, 1935 T W et a1 ?
(A) A HHEH

@) S wEA FwHEE

© fefadm difs

D) e FoEa = i
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85.

87.

88.

89.

Liver is a RICH source of : > .
(A) sugars =y -
(B) faf soluble vitamins i : r‘_-_: .
(©  minerals { !
(D)  proteins 1
Cuscutaisa:

(A) Saprophyte  (B) Epiphyte
(C)  Xerophyte (D) Parasite

In the case of an inferior good, the income elasticity

of demand is:

(A) Zero (B  Negative

(@ Infinite (D) Positive
Nitrogen is an essential constituent of all;

(A) Fats (B) Proteins

(© Vitamins D) Carbohydrates

The Sargasso sca is situated in the :
(A) AtlanticOcean  (B)  Pacific Qcean
(© Indian Ocean (D)  ArcticOcean

Who discovered electromagnetic nature of light ?

(A) Snell (B) Newton
©  Maxwell (D) _ Young

Judges of the district courts are appointed by:
(A) Governor (B)  Chief Minister
(C) Law Minister (D) President

The Poona Pact (1932) was an agreement between:
(A) Nehruand Ambedkar

(8) Gandhiand Ambedkar

(© Malaviyaand Ambedkar

(D) Gandhiand Nehru

Time of exposure required for taking photograph of
an object depends upon the::

(A)  brightness of the object
(®) skill of photographer
(O  proximity of object

(D) sizeof the object

AA 2013/Pagel6
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93.

95.

97.

99.

100.

On which side did Japan fight in the First World
War?

(A) none, it was neutral
(B)  withGermany against United Kingdom

(C)  against Russia on its ownt

()  withUnited Kingdom against Germany

The First India-Africa Forum Summit was held
during 2008 at :

(A) NewDelhi (B)
(©  Bangalore ()
In which year the planning commission was
set-up ?

(A) 1950 (B)
© 1952 D)

“Rainbow Coalition” is a term derived from the
politics and policiesof :

Tana
Addis Ababa

1951
1949

() PracabMukne
) Barack©bama 3
(©  MittRomney i

(D)  A.B.Vajpayee

The layer, of the atmosphere in which Radio Waves

are reflected back is called
(A) - lonosphere (B) Troposphere
O Stratosphere (D) Exosphere

Who can impose reasonable restrictions over
fundamental rights ?

(A)  Council of Ministers

(B). . Parliament
" (© People
(Dj  Cabinet

' ‘The number of eggs normally released during one

menstrual cycleis
w3 o2 8 3 O 4
Who won the “World Youth Chess Championship
20122

(A)  N.Priyanka
()  ScottFlemming

(B)  Kimi Raikkonen
D) M. Mahalakshmi

The animal that donot develop hypertension inspite
of heavy intake of saltis:

(A) Sheep (B) -~ Buffallo

(© Tiger (D) Camel
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101.

102.

103.

105.

106.

107.

108.

109.

‘™ 3

2y

Three numbers are in the ratio 1:2: 3. By adding5
to each of them, the new numbers are in the ratio
2:3:4, The numbers are: 1

@w -2 ® 2 © 5

15, 30, 45
5,10, 15

10, 20, 30
3 o R

(A) ®
© ©)
If a2+ b2 +c2+3=2(a—b—c), then the value of
2a—b+cis:

® 4 © 0 ® 2

A man buys3 cows and 8 goats in¥ 47,200. Instead,

if he would have bought 8 cows and 3 goats, he had
topay ¥ 53,000 more. Costof one cow ist

(&) 11,000 ® 12,000
© 13,000 D) % 10,000

A chord of length 30 cm is at adistance of 8 em from
the centre of a circle. The radius of the circleis :

W 17 ® 23 © 2 O 1
Number of digits in the square root of 62478078 is :
@ 4 ® 5 © 6 O 3

The ratio of inradius and circumradius of a square.

1s:
(&) ®)
© D

Out of 10 teachers of a school, one teacher retires
and in his place, a new teacher of age 25 years joins.
As a result, average age of teachers is reduced by
3 years. The age (in years) of the retired teacher is:

V243
bl

lzﬁ
13

A 58 (B 60 (©@ 55 (O 50
Eve.xluate . tan1°tan 2° tan 3° .......... tan 89",
A 1 @ =1 g 2 o 0

110.

111.

112.

q13.

114.

115.

116.

~ him to swim to a place 10 km upstream and back

Equation of the straight line parallel to x-axis and
also 3 units below x-axis is :

A) (B)
© ©)

x=—3

y==3

PP and Q are two points on a circle with centre at O.
R is a point on the minor arc of the circle, between
the points Pand Q. The tangents to the circle at the
points P and Q meet each other at the point . If
£PSQ=20°, ZPRQ=7

(A) 80° (B 200° (O 160° (D) 1007

The value of a machine depreciates every year by
10%. If its present value is¥ 50,000 then the value of

the machine after 2yearsis .
(A) T 40,050 (B) 45000
(© T40,005 (D) % 40,500

Irra triangle ABC, AB=AC, ZBAC=40°% Then the
external angle at Bis :
@ 9 @ 70° (@ 1100 D) 80°
A can finish a work in 18 days and B can do the
same work in 15 days. B worked for 10 days and left
the job. In how many days, A alone can finish the

remaining work ?

@& 6 ® 5%

© 5 O 8

A man can swim 3 km/hr. in still water. If the
welocity of the stream is 2 km /hr., the time taken by

is:

b3
(&) 9§hr. B 10hr.
(© 12hr D) 3%]11'

110 men or 20 women or 40 children can do a piece
of work in 7 months, then 5 men, 5 women and
5 children together can do half of the work in:

(A) 6 months (B) 4 months
(© 5months (D)  Bmonths

SPACE FOR ROUGH WORK

AA 2013/Pagel8
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102.

103.

104.

105.
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E

e

|
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?ﬁq#@ﬁl;z:aﬁmﬁﬁl w7, weam H 5
ﬁs_%maém'iz:a:a,%eﬁmaﬁﬁw&%l
FeEn, 3 gemt FR-H 2
(A) 10,20,30 ® 15,30,45
© 123 © 510,15
aft a2+ b2+ 2 +3=2a-b—0) & W2a-—btcH
W feram 7 2
(&) 3 ® 4 © 0o @O 3
s i 3 ol 8 T X 47,200 WO E
uﬁwﬁsnﬁaﬂtsaﬁﬁﬁaﬁ@ﬁ,ﬂiaﬁ
2 53,000 i 3 B | TEANR, T A FT HA-HA

frRam 27

(A) T 11,000 B T12000

© 13,000 D) ¥ 10,000
m#ﬂ?’ﬁaﬁmwtwga_%%ﬂ:sﬁ.g%a
e, 39 79w G e €
(A_)i?(ﬂ)es.p,n@)m
62478078 3 Fite@ A S v e ¥

@ 4 ® 5 © 6 O 3
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T E?

@ 1:42 ® 2:43

© 1:3 o) 1:2
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Wmammﬁﬁ%sﬁwmsaﬁmﬁt
S B 1 ﬁg&ﬂ,wﬁmﬁqﬁ@maﬁm
ot = w1 B2

111.

114.

115.

110,

112.

113:

116.

x-aiaia:wmww,a‘umwsmﬁﬁ,
= e - E

(A ® y=3

© @ =x=3
PWQ.W@.W#O%WF@H@%@%!
Pﬂmqﬁﬁamaﬂaﬁaﬂmmﬁﬁ@ﬂl
mﬁ_ﬁpwqﬁ'@ﬁﬁmw\i@—w#
faig o T frerd 1 TegER, e £PSQ=20°F,
PRQ fors s @ 2

@) 80 @® P (© 160° (D) 100°
qﬁqsﬂaaﬁmmaﬂw%azwﬁt%\ AR,
qﬁmwmtso,omﬁr,a‘laaﬁww

x==3
y=-3

T ) i e 7
(A) 40050 By ¥ 45,000
(© T40,005 (D) ¥ 40,500

WWABC'&AB=AC.ABAC=40%@TBW
T q fwa B ? -

(A) 90 (B 70° © 1100 © 8
Aﬁmmﬁﬁfﬁaﬂwaﬂmﬁaﬁwﬁﬁw
T FHA B3 = 5 10 fedl 7 w0 91 fe

W,Am*ﬂﬂﬁaﬂﬁﬁ%ﬁﬁﬁ{ﬂﬂﬂ
T ?
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o St feew W H 3 et/ o T & T
¥ AR, 3% wE- W o faeft/H. &1, TS
=g 1 10 FE ow ¥ s TR i = o H

@) S%ﬁ ® 108
@ 1u® o s

afz 109759 =1 20 ferl 40 5= T w1 7 WEA
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127,

The value of
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c081°cos 2°cos 3°....... cos 177° I8 If ("r —ftn+ %) be a perfect square, then the values
= 1 y
(A) 0 (B) E (C) of tare:
@ =2 @B L2 @ 238 O =1
118. 1f p—2q=4, then the valiie of pd—8g
is: me b x L 1 :
- _ +| 126. 1f ==——— then the value of x — x2is:
@ 2 ® 0 Q| -1 S =a y henthevalueof x—x%is
119. If sin8+cosech=2, then the value of 1 =
: sin%0 + cosec? 4 is : o Wi © A X
@ 3 ® 2 O 12 O 1
: ‘ _ 127. 1f AABC is similar to ADEF such that BC=3 cm,
120. A shopkeeper marks the price of an article at T 80, EF =4 cm and area of AABC =54 cm?, then the area
What will be the selling price; if he allows two of ADEF is:
successive discounts at5% each ? j (A)  66cm2 (B) 78cm?
Ay T72 ® T2 ‘
C)  Yoem? 54 em?
© 85 O 72 | & - Seem B St
. : TR - e 4 in icle for T 170, a shopkeeper loses
121.  Which of the following successive discounts s better 128 O"r', selling an article for T170, geauplecper-o
to a customer (@) 20%, 15%’10?& j 1t5 %. Inorder to gain ZD%AMME sell that article
= atru :
or () 25%12%8%2 i i - )
& s beter & @ a5 ® 225
(B)  (b)is better (C) 240 D) 210
. _ o g
(- (aIE o) (bl relent) &l 129, The time in which ¥ 80,000 amounts to ¥ 92,610 at
(D) Noneof these " e 10% p.a. at compound interest, interest being
122. ABCisanisosceles triangle such that AB=ACand Foripeundel st S ¥,
£B=35". ADis the mediar to the base BC. Then ol
ZBADis: (&) 13 years (B) 2years
b JO
@ 7t @B 3B (© 110° @) 55° !
' ' _©  2gyears D)  3years
123. The degree measure of 1 radlan(’dfcﬁ\g%%) g
is: P 130. If ABCD be a rectangle and P, Q, R, S be the mid
@) o 61: 22:: (approx.) points of Kﬁ, E.(f, CD and DA respectively; then
& orge 22_ {approx.) the area of the quadrilateral PQRS is equal to':
(© 57°22'16" (approx.) (A) area (ABCD)
D) 57°22'16' (approx.) |
1
124. A train moving at a rate of 36 km/hr. crosses a (B) 3 area (ABCD)
standing man in 10 seconds. It will cross a platform
55 metres long, in: © 3 area (ABCD)
(A) 6 seconds (B) 7 seconds 4
\ 1 . . 1
Q 155 seconds (D) 55 seconds D)y 5 area (ABCD)
SPACE FOR ROUGH WORK g
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- cos1°cos2° cos 3% e

\ 124.

i ‘qﬁ[n'—nwﬂ@tgﬂaﬂﬁ(,ﬁnéﬁmwiﬁ?
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wo o ® 3 © 1 o 7 @ =2 ® 1z © 23 O =l
X
18, AR p-2=47, A 5 — 8P — 24pq— 64 TR N | 16, 7 x_1 1 & & y— 2% um foe 8 ?
m? . a a X
&) 2 ® 0 © 3 o -1
119. AR sin 8+ cosec 6 =27, Al sin% + cosec” 8 %I A i it i
 wmAm? . : s
107, @ AABC, ADEF % wiEd & 3R BC=3 §,
} s 2. & U . EF = 4 S 49 AABC 1 8 = 54 FR ), T ADEF
120 mmwmmw?mﬁ%m%l =51 et e A 2
‘ wﬁﬁﬁms%#%mﬁm > .
j (A) 66 TR ® 78 %HE
\ 79, 7 s faa e fo @2
: @A) T2 ® 3I72 © 9 HHR @) 54 8P
. o o 7 1 170 8 A T, T G H15%
121, B f e i g & o dE 2 > B 12
(8) 20%,15%,10% - fﬁ%ﬁgﬁ“ﬁﬁmw it
W) 25%12%8% f
(&) (a) AT (A) 215.50° (B) 212.50
B (b)TEE © 240 © 210
© (@) (T IR TY 129, if S Y N s W, T 2 80,000 H1 T
@) 7 _ 10% S e = wU T fe T H T 92,610
| 122, ABC T wufgag fave & fEd AB=AC T 2 st ?
/B=35 %1 =4l AD, AW BC F1 HiferH Ju=
FEIT, ZBAD fam Em 2 - @ 1z= ® 2™
@) 7 @ 3B O 1 @ 55° .
| 123, 1ﬁmmfsﬁﬁm(w=%%mmm%? © Zﬁ_ﬁ @ o
((:)) gizigﬂng; 130, W5 ABCD @& @mad @ it P, Q R, S F:
© 5722 16" (FTHT) Eﬁﬁmmﬁmﬁﬁf%‘iﬁmﬁ
© 57°22 16 (W) - e TEs e Em
YT 36 /s, W @ e, T EE g (A)  (ABCD)F &%
. e ) TR FE 10 e T €1 TEIER, T & i
o5 s i 35 @ TR A e W (RS A1 G
e ? A
v = (ABCD
&) 6¥FT ® 7S (G ARED) S drr
© 15y o) Sy @ 3 (ABCD)F i
% T & ford SE
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¢ 13L

132,

133.

134.

\. 135.

‘ © 136.

137.

AB and CD are two parallel ¢
that AB=10 cm and CD =24 cm. |
on the opposite sides of the
between them is 17 ¢m, then ¢
circle:

(&) 1lem (B) ﬁg‘_-
© 13em 0) 10em

The average of 50 numbers is 38. If two numbers
namely 45 and 55 are discarded, the average of the
remaining numbers is :

(A) 35 B 325 (O 375 O 36
I 24 a _!._

fo R L +x3is

(A) 81 (B 110 (O 125 @) 27

The marked price of a mixie is ¥ 1600, The
shopkeeper gives successive discount of 10% and
x% to the customer. If the customer pays ¥ 1224 for
the mixie, find the value of x ;

@) 10% ® 12% © 15% O 8%

Given A is 50% IargerthanCandBisZE% larger
than C, then A is what percent larger ﬂmB?

(A) 25% (B 50% (©Q 75% () 20%

A chord AB of a circle C; of radius (V3 +1)em
touches a circle C, which is concentric to Cy, 1f the

radius of C, is ( —1) cm,, the length of ABis:
@ 243 em ® 8B
© 4Bem ¢ @) 43.cm

it [x +l]=4,rhentheva1ueofx4+l4 is:
x X

A 64 (® 19 © 81 (O 124

138.

139.

140.

141,

142,

143.

100 m from its foot is 30°. Height of the tower is :

‘A man undertakes to doa certain work in 150 days.

The perimeter of the base of a right circular cone i
8 cm. If the height of the cone is 21 cm, then i
volumeis:

(A) 108 7 em? ®) —;-.cmE’
© 112mwem? ©) % ?

outer circle and the inner circle is 66 metres, the
width of the road is: (Take w= 2 )

®
D)

)
©

10.5 metres
5.25 metres

7 metres
21 metres

If sec B+ tan 8 =2+ /5 , then the value of sin § + cos
is:

(A), V5

-

3 7
5 ® © 7 O

The value of -(sinz 25°+sin? 65%) is :
2
(A)%(B) 1 © 0 O

The angle of elevation of a tower from a distance

@A) %m ® 50V3im
© %m @ 100V3m

He employs 200 men. He finds that only a quarter
of the work is done in 50 days. The number of
additional men that should be appointed so that
the whole woﬂ:wﬂlheﬁmﬂedm time s :

® 75 @® 100 © 125 o 50

SPACE FOR ROUGH WORK s

AA 2013/Page22
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31

32.

134.

135,

136.

AB=10 ¥t 991 CD =24 I, 3| W fe 3
Sfand s % fewtia feensit 4 1 oi 35 A g0
17 941, 8, 9 =9 39 7 e fea &2

A) 118 (B 127FW.

© 13§ @) 105,

50 WIS 1 G 38 % | A < HEAd Afy 4570
55 %21 &1 WY, @ 9y gemsdi # A e w
s ? '

(&) 35 (B 325 (O 375 @ 36
—_—h—ﬁ @ x +—$‘rmﬂm=n
=23 +1

am?

@ 81 ® 10 © 125 (@) 27

T el 1 A 777 T 1600 81 38 W gFEER
T AR F 10% T x% B FF 2 2 B
TEIER, AfC TR 7 39 e F 2 1221 fen A, 0«
1AM T HITAE |

@) 10% ® 12% © 5% @) 8%

afg A, € 50% =g 8 @i B, cd 25% TF A, A

A, BE T whrer = gm 2

&) 25% (B 50% (@ 75% D) 20%

(V3 +1) . foem ot v 7w ¢, 7 <fr AB,
% WA U 99 C, W o e E e, AfE C,
F1 B (VB -1) A @, A AB # o Fe
a2

139.

140.

141.

142.

8. U e g YF F AR F IR 8 &t &) wfe

39 vig F IAE 21 D, @ = A e
g ?

112

(A) 108 « FHP ® — #xﬁ*

108

© 112 = 9P D) —ﬁvﬂ?

T AR HEF % AW 9N 0% gEER gew ¥

- FRTE, AR W WeH & A v o sviafcE g9 #

qﬁfwﬁmaffmﬁﬁtﬁamré’r,?ﬁ(wd%ﬁamm
=1 = fehaet gt 2

(&) 105 ® 7=

© 525 (D) 214

IS sec 0+tan 8 =2+ /& B, T sin 0+ cos 6 FTTH
1 E 7

Sil~

B %
W F B B O F O

(sin? 25°~+ sin 65°) %1 AT fe 2
3 )
W == ® 1 © o B

TH MR IS a9 100 W w5 5l  wm
IV 30° 1 TEAER 39 WAR 1 FaE e €2

(A) % o, B 503 T,
© %fﬁ D 1003 =i,

() 245 % ®)  8/5% 143, T = v w150 i 3 q e few 8
2R (= L D 43 F4. IGH 7% 200 AT Py Fe §1 39 g wow
50 et 5 Frarer wa—=fed & [ g ¥ | qegER AE
b o0 o d 90 1@ e w99 w 9w w3 ¥ o, =8 fead

137. aﬁ(;+x)—4%’r,?ﬁx+r—4mm%m@m? e
®) .64 B 194 © 81 @O 124 A 75 ® 10 © 125 O 50

T FT % ford g
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Directions : Questions no. 144 to |
pie-chart shows the number of s
different faculties of a college. Study 4

144.

145.

146.

Education

How many students are more in commerce than in
law if 1000 students are in science ?

(A) 200 (B) 2000 (O 500 (D) 20

1000 students are admitted inscience, what s the
ratio of students in science and arts ?

A) 6:5 (B 7:5 (© 7:6 (D) 5:6

1£1000 students are admitted in science, whatis the
total number of students 7

(A) 180 (B) 1800 () 3600 (D) 360

FOR VISUALLY H
[f 72472 is divisible by 9, the missing * digit will
be:

147.

148.

149.

150.

NDICAPPED CANDIDATES ON

Directions : Questions no. 147 to 150, Study the tw
pie-charts and answer the questions.

.and Savings from April month’s salar is:

s 2%
f_:%\ A- Education 2 2
g\ B=Skvng i sl sk

1 C - Grocery o TN
o S B (2
18% phone bills A
/y E - Miscellaneous \\:W_%//
ca% ™ Ple chart Piechart 7

What is the percent increase in Education in May

month than April month ?
(A) 9.56% (B 12.35%
© 20% D) 10.82%

The ratio of amount spent for savings in April
month’s salary and miscellaneous in May month’s
salary is: .
(A) 216:25 B) 217:26
© 205:13 @) 235:50
From the salary of May, the amount spent on Grocery:
and Electricity are:

(A) T6250,3360  (B)
(© ¥3500,% 2250 D)

2 960, T 5040
7 2160, T 480

The average amount spent on Education, Grocery

(A) ¥ 5800/- (B) T 6000/
(© T 6325/- (D) ¥ 5520/-

If sin 0 +cos 6 = 2 , then the value of 8 (07 < 0 <90°)
is:

(A) 3or6 (B 2or4 @) W B 6 @ 9% (O 45
S 2888 B e 148, AABC and ADEF are similar. If 5 AB=2 DE and
. EF =10 cm, then BCis equal to:
145. Theaverage age of four players is 18.5 years. I the (A) 4cm B) 6em
age of the coach is also included, the averageage is ) 2
increased by 20%. The age of the coachis: (O Bem D) G
(A) 34 years (B) 31 vyears 149, If x, y are real and x?+y*+2=2(y—x), then the
| value of x is:
(C) 37 years (D) 28 years :
W -1 ® 0 © -2 O 1
146, A man walking at 3 km/hr. crosses a square field 1
diagonally in 2 minutes, The area of the field is: 150, lfa=uxband b=ay, then the value of TR
(&) 3000 m? B 5000 m2 = .
© 6000 m2 (D) 2500 m? (A) b B 2ab Q@ 1 o a
SPACE FOR ROUGH WORK
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SETIT T YY1 o S I |
Tarem

fafy
& N
’ v‘éﬁ
oz
144, =z fagm & 1000 == 2, O avea F 61 ®1 e,
Tafy = ol 8 Tt = 82
(A) 200 (B) 2000 (©

500 (D) 20

145, 3tz Taam & 1000 371 1 worw foren =1, @ &7 9
T & BTA T S ToRaT &2

(A) 6:5 B 7:5 (O
146, 3% fasm # 1000 BE 1 w@w e @, @ T 2
T FEA TR £ 2
(A) 180 (B

7:6 (@) 5:6

1800 (O 3600 (D) 360

¥ WY T 147 F 150, T GG H AT TR

T

E

/ T I
BN powEg & ’ ‘
‘ C - ftr W [ .!
/' i - faedt 7 il f
!24006‘ Z“’ " T 25000 & A
E - fafam .
ca% a1
147. SE HEA T qE § v WA H e & v 1 s
yowm S e £
(A)  9.56% B) 12.35%
© 20% )  10.82%

148. ST R % S A wEa w1 A0 3w 9w F A
% fafas w= =1 ufe =1 erym fFaw 87
(a) 216:25 B 217:26
© 205:13 D) 235:50

149. TE % 357 | R au fawet w e ofe ws
T2
(A) T 6250, T 3360 (B) %960, T 5040
(© T3500,T2250 (D) T 2140, T 480

150. e E = S 3 T, e oo w=e W w5

" siteq ofenfEE B 7
(A)  ZT5800/- B T 6000/-
© 6325/ (D) ?5520/-

144, AfE 72+72 %1 9 % gw fawifee T =n wa &1, 4t
T * T 3T BT E 2
(A) 376 ® 274
© 578 O 079

145, =R famniegdl #1 ofwm o 18,590 ) 4 =79 @y
= w1 g o i W & S, § s 20% 7%
S ¥ | TCHMN, RIE wht ST et £ 7
(A) 34 ® 31
© 37 ) 2899

146. T =i 1 3 w1/, =1 70 | AEH T TR
© e = el w2 T e €| T,

147. 0% sin B+cos B=~2 &, T 8 (07 < # < 90°) =1 A
Tarrn & 2
(A) 30° @B 60 © 9° (D 45

148, AABCTHIADEFHH®Y | 374 9fg5 AB=2DEAM
EF =108 &, 71 BC e =u=w 2 ?

(A) 48 ® 6HH
© s&d@ ©) 2%

149, ﬂﬁx,ymﬁ R 52 +12+2=2(y— X) B, @
=7 HIF FEm ?

w- =1 @B 0 © -2 @O 1

T A G AT R

A 30005 ® 500062 150. AFa=abTd b= aumm? H]Wﬁ‘rﬂ?

(© 6000 T2 (D) 2500 # A b @B 2ab @ 1 (D) a
T @ & o s

AA 2013/Page25
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Directions : In questions no. 151
sentences have errors and some are.
part of a sentence has an error and
corresponding to the appropriate
sentence is free from error, bl 1
to (D) in the Answer Sheet. %

151.

152,
153. During the last few years/ e
*) s
the company waorks hard/
i - .
ernise its ima. e._/
S e *
NO&@!‘.
(D)
[
154. Thisstampisonlyone / of the design / ever printed./
(A) (B) ©
NoError. )
D)
155.

for having broke the promise /
(B)

the magistrate was happy to forgive him. /
©

No Error.
(D)

AA 2013/Page26

PART - D
MPREHENSION

Directions : In questions no. 156 to 160 sentences are given
with blanks to be filled with an appropriate word(s). Four
alternatives are suggested for each question. Choose the
correct alternative out of the four and indicate it by
blackening the appropriate oval [@®] in the Answer Sheet,

156. What ? It wonderful.
(4)  iscooking, smell
(B) iscooking, smelled
(©)  areyoucooking, smelt
() areyou cooking, smells
157. Wehad money left, so we went out fora
meal. We decided to abandon our trip as we had
. money left.
(A) - alittle, a little
(B)  little, a little
© afew,few
(D) alittle, little
158. Please write to me this address.
(A) upon (B) at
©Q w ©) on

159. 1 hate him for the simple reason that he keeps singing
his own praises continually talking about himself.
He is an irritating . Heisareal

because for anything he does he always expects
something in return, a selfish personindeed.

(A) _ Posee Misasnbui
() Poser, Egotist

mm ‘sthec . everybody
@Mwﬁa&mymmme So we will meet
it is about a couple of

(&) wbmhm!me
(B) ~ where, when
(©  when, where

(D)  when, which
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Directions : In questions no. 161 to 163, out of th
alternatives, choose the one which best expres:

161. Ingenuous

(A)  innocent (B)  artful

(© cunning (D), clever
162. Innocuous

(A) careless

(B) . harmless

(©  insufficient

(D) irresponsible
63. Insolent

(A)  disrespectful

(B)  insoluble

(©  depreciating

(D)  thesole of a shoe "

irections : In questions rio. 164 to 166, choose the word
PPosite in meaning to the given word and mark.it in the

meazﬁngofthegivmwordandmarkitinﬂie_ml Y "

167.

OVE['" ~
(A)  open
(B)  complete
(©) ‘hidden
(D) culvert
{65, Diffidence
(A)  self-assurance
(B)  expansiveness
(©  shyness
(D)  sharpness
166.  Amateur
(A) ‘“novice
(l; (B)  professional
i © lover
'-(D) apprentices

\A 2013/Page27

r | ' Directions : In questions no. 167 to 171, four alternatives
(‘ e given for the Idiom\ Phrase underlined in the sentence.

168.

169.

170.

1T

SR

e the alternative which best expresses the meaning

Idiom\ Phrase and mark it in the Answer Sheet,

He is known for blowing his own trumpet.

(A)  clattering
®

©
®)

shouting
clamouring
boasting

He cut the Gordian knot by practicing what he
preached.

(A)  lessened the difficulty

(B)  letthe difficulty remain as it was
(©  removed the difficulty

(D)  add to the difficulty

He took a leap in the dark with his latest investment
instocks. =

(A) tookarisk )
(B)  was hesitant

(©  wasconfused

(D) wascocksure

Communicaﬁveﬂngﬁishistheﬁghm_es_'hgjforthe

job aspirants.

(A)  weakspot

(B)  sourceof strength

(O  what they cherish most
(D)  toppriority

He s leaving the USA for good.
@) urgently

(B_} permanently

(©  temporarily

(D)  immediately
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=

at\d ©) w['uch may improve
correctalternative. Incaseno
answer is (D).

172.

(A) They left the hotel wm%'w been

staying by car.

(B)  They left where they wemstayingm a hotel
by car.

(© Inacarthey leftwhere they were staying i
hotel.

(D)  Noimprovement

173, Will you lend me few rupees in this hour of need ?
(A)  lend mea little rupees
(B)  borrow meafew rupees
(©)  lend me a few rupees

D) Nﬂi‘mprovemen'x 5, ¥

174. Fiyeyearsago today, | amsittingin as‘ﬁﬁilapanese
car, driving across Poland towards Berlin.

Lrmg
(A)  was sitﬁng o il
(B) sat +
(©  havebeen sitting L

(D) Noimprovement

175. He could notlook anything in the dark room.
(A) lookat
(B) see
(©  seethrough

(D) Noimprovement

AA 2013/Page28

|

176. No one could explain how a calm and balanc
person like him could penetrate such a mindless a
on his friends.

(A) perpetuate
®)  perpetrate
(©  precipitate

(D) Noimprovement

177 sak with authority on

poets Df the ance must have a broa

acquaintance with the writers of classica

antiquity.

(A) Anynnewhowillsﬁﬁék
~ (B

(O  Anyonedesirous for speaking

*(D) Noimprovement

1f one would speak

178. He found a wooden broken chair in the room.
(A)  wooden and broken chair
(B) broken woc;dmchair

3 (©) brokenand wooden chair

(D) Noimprovement

» -

m The starving and crawling people in the televisi
m@ma looked more like beasts than tiri

(A)  posed
(©  seemed ]

(D) Noimprovement



180.

(A)  that he bought yesterday.

(B)  which he had boughtyesterdlay,_‘ =

© thatlhe has bought yesterday. & -_'!’ I
(D)  Noimprovement

Having only a few hours left, she wondered as she

s would finish the assignmient.
(A)  thatif
(B)  whether
(O that
(D) Noimprovement i

Directions : In questions no. 182 to 188, out of the four
alternatives; chaose the one which can be substituted for
the given words/ sentences and indicate it by blackening

the appropriate oval [@m] m!hemsf\eﬁ
182, Apersanwhoteaﬁfy"bellmm
(A) Credible
+ (B) ' Credulous
(©  Sensitive
(D)  Sensible
183. The political leader has an evil reputation. He is
- not trusted.
!A) is notorious
_(B) " is malicious
(©)  ismagnanimous
(D) is dubious

AA 2013/Page29

184.

185.

186.

187.

A person who helps even a stranger in difficulty.

. (A)  samaritan
(B)  altruist
(©)  philanthropist
(D)  beneficiary

Politicians are notorious for doing undue favour to
theirrelatives.

(A)  pluralism
(B)  nepotism
©  dualism

(D) polarism

The production of raw silk,

() sericulture
(B)  seroculiure
(O _ sariculture
(©)  syrumeulture '

Meaningless language with an exaggerated style
intended to impress.

(A)  Oratory
(B)  Public speaking
#
(C)  Verbalization
(D)  Rhetoric
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. 188. The conference takes place once in th
(A) tetraennial
(B) triennial
(C)  treennial I .

(D)  thriennial ¢ SRR

Directions : In questions ‘ 7
given in each question, out of which only one
correctly spelt. Find theicorrectly spelt word an:

your answer in the Answer Sheet. by <pall

189, (A) perjary 4-“'- '
()  perjury - "
@  parjury "l
(D)  perjery

190. (A) hetrogenous 5

(B) heterogineous
(@  heterogenious

(D)  heterogeneous . Lr

Directions : In questions no. 191 to 200, you have two
passages with 5 questions in each passage. Read the
passages carefully apd choose the best answer to each
question out of the four alternatives and mark it by
blackening the appropriate oval [@®] in the Answer Sheet.

PASSAGE -1 (Ques. No. 191 to 195)

The Bengal Renaissance refers to a social reform
movement during the nineteenth and early twentieth
centuries in the region of Bengal in Undivided India during

_ the period of British rule. The Bengal renaissance can be
said to have started with Raja Ram Mohan Roy
(1775 - 1833) and ended with Rabindranath Tagore
(1861 - 1941), although there have been many stalwarts
thereafter enibodying particular aspects of the unique
intellectual and creative output. Nineteenth century Bengal
was a unique blend of religious and social reformers,
scholars, literary giants, journalists, patriotic orators and
scientists, all merging to form the image of a renaissance,
and marked the transition from the ‘medieval’ to the
‘modern’.

AA 2013/Page30

During this period, Bengal witnessed an intellectual
awakening that is in some way similar to the European
Renaissance during the 16th century, although Europeans
of that age were not confronted with the challenge and
| influence of alien colonialism. This movement questioned
existing orthodoxies, particularly with respect to women,
‘marriage, the dowry system, the caste system and religion.
One of the earliest social movements that emerged during
this time was the Young Bengal movement, that espoused
| rationalism and atheism as the common denominators of
civil conductamong upper caste educated Hindus.

| ~ The parallel socio-religious movement, the Brahmo
il ‘Samaj, developed during this time period and counted
many of the leaders of the Bengal Renaissance among its
191. Find the option that is opposite in meaning to alien,
i | (A) disputable
] 4 e RN o=l
192. The Bengal Renaissance was different from the 16t
century European Renaissance because :
(A)  Europeans did not have the dowry system.
(B) Raja Rammohan Roy and Tagore were not
born in the 16th century.
(©) The Bengal Renaissance was an essentially
Hindu Movement.
(D) Unlike the Bengalis, Europeans were not
under foreign rule.
193. The spirit of Renaissance :

(A)  istoembrace atheism

(B) istogetinspiration from Western intellectual
thought

(©)  liesinbreaking all shackles of backwardness
and narrow mindedness '

(D)  is essentially scientific
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194. The Bengal Renaissance movement :

' (A)  wanted to overthrow coicmm
(B)  wanted to propagate Brahmoism
(©)  wanted social reform to improve
weak and the downtrodden - -sigs
(D) none of the above s b

- 195.  The Bengal Renaissarice gathered momentum in the

19th century because :

-(A)  the British had colonised India
(B)  there was an abundance of intellectual and
Creative activities in Bengal then.
(C)  the Brahmo Samaj was formed
(D)  RajaRammohan Roy and Tagore lived at that

time.

PASSAGE- 11 (Ques. No.196 - 200)

“Imust find a hiding place,” he thought, “and in the next
few seconds or  am done for.”

Scarcely had the thought crossed his mind that the lane
took a sudden turning so that he found himself hidden
from his pursuers. There are circumstances in which the
least energetic of manki 7 i

decision. This was such :

astonished at the lad’s boldness. He, ;
the box of jewellery over a garden vall and, leaping
upwards with incredible lightness, he seized the top of the

walls with his hands and tumbled headlong into the
garden. -
196. Rehmat Aliis most likely :
(A) é:.hrur_giar .
(B)  apoliceman
(O  anightwatchman
D)  ajogger
197. Whatkind ofa person was Rehmat Ali originally 7
(A)  slow and steady
(B)  lazy and indecisive
(Q)  reflective in nature-
(D) bold and decisive

AA 2013/Page31

198.

199,

200.

The expression ‘to stop dead’ means :

(A)  tobe paralysed

(B)  tocometoacomplete halt
(O todiesuddenly

(D)  beclose to death

Rehmat Ali found himself hidden from his pursuers
because :

(&)
(B)
(©  hehad stopped dead

(D)  he had acted with speed and decision

he had gone around an unexpected bend

his pursuers could not run fast enough

‘There are circumstances in which the least energetic
of mankind learn to act with speed and decision,
and the most cautious forget their care’. Rehmat
illustrates this by :

(A)  running away from his pursuers
(B)  bystopping dead
(© turning into a lane
()  jumpinginto the garden
-olo-
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) fafu

* Answer-Sheet.

suggested answers or compietia
case, you are required to select th
correctly answers the question or
the statement and blacken [a®]
oval A, B, C or D by Black/Blue B
pen against the question concerr
(For V.H. cand

Frdor :— wedE T AU FAF S
ATE =T IR e O F9 g T ¥ |
on 3 s FE T F T E S A A
T 3 o] HAA FI YW FL ST FH]
- & 9% VIER @M A, B,CH D
1 e /e wtet uige 49§ FT (] w
¥ ( gfte anfem Feiiearl & o T SUSTERT

corresponding oval will be blacken ferfrer grT =Te feRan wTT )

the scribe.) i el T e @ B 2 smom v
The following example illustrates the manner: T few 9H €

in which the questions are required to be ST ;

answered. -+ RS

Example :— 4 it | TR = ) !
Question No. 'Q" — TS ﬁ@ﬁmﬂﬁﬁﬁwm—ﬁ%

Out of the four words given below, three
are alike in some way and one is different.

qu1 T T e e E | FE e fae
] VR AT © '

Find the ODD word ; - a5 (D) T
(D) Girl & (A) m
(A) - Boy ‘ < ufe
(B) Woman - % ? .
(C) Chair AT — ST F T ¥ e I

Explanation :— In the aboye example, the
correct answer is ‘Chair’ and this answ i
been suggested at ‘D', Accordi '
answer is to be indicated by blacke

%afn.ﬂ%m'nﬁww% #d: wv H
‘w AR HEE DE STETEHR G
mﬁwaﬁaﬁs‘zﬂﬂﬁmm[.]aﬁ%

the oval by Black/Blue Ball-poi in £
column ‘D’ against Question No. ‘Q in the Wﬁ.am—? e & o1 feem e & =
" manner indicated: below : = 4 W /.

Question No. ‘0’
[A] [B]

e

€] e

There is only one correct answer to each

question. You should blacken (@] the ¢
of the appropriate column, viz,, A, B, Cor
D. If you blacken [@®] more than one oval
against any one question, the answer will be
treated as wrong. 1f you wish to cancel any
answer, you should completely erase that
black mark in the oval in the Answer-Sheet;
and then blacken the oval of revised response.
You are NOT required to mark your answers
in this Booklet. All answers must be
indicated in the Answer-Sheet only.

i3

i

F ® FEN A €, dl S Sw-A= F a9
s Eh g wa P A e
st 7 TS B S ¥ fo AVETHR BH H
FeN F .

T i & =L AR TR e T8 w

AA 2013/Paged2

) TR Few ST A A E
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